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Money and Banking.
Money is anything generally acceptable to the majority of people in exchange for goods and services.

	Functions of Money.

1.Medium of exchange

Money allows people to get goods and services.

Allows the buying and selling of goods/services to be broken into two distinct activities.

2.Measure of Value

Money enables a value/price to be put on goods & services.

3.Store of Wealth

Allows people to save for the future.

4.Standard for Deferred Payment

Money is capable of measuring value for a future date.

Money makes credit trading (i.e. buying & selling) possible.



How money helps the development of a modern economy.
1. Money acts as a means of exchange.
· Overcomes the difficulty of “the double coincidence of needs and wants”.
2. Money acts as a measure of value.

For example:

A USB costs €20 and a book costs €10. This indicates that one USB has the same (exchange) value as two books.

That is, the relative value of products is shown by the amount of money that must be given for them. 

3. Money acts as a store of wealth.
· That is, it facilitates savings.
4.Money acts as a means of deferred payment.
It enables the operation of an efficient credit system. The barter system was not suitable for lending and borrowing purposes. This is an essential feature of money as:
Industry cannot develop if it cannot borrow.
Most consumers could not buy expensive consumer durables if they could not borrow (for example, most people need a mortgage to enable them to buy a house).
5. Division of labour.

The use of money allows each person to specialise in one task and with the money received acquire those goods and services, which are needed to survive.

6. Time saving

The use of money saves time in not having to negotiate the relative worth of different items, unlike barter.

7. Increased wealth

Money allows for the specialisation of labour / firms, thus increasing society’s wealth which allows for the provision of more services and for improvements in the state’s infrastructure.

8. Confidence

The use of money gives citizens confidence that the economy will operate effectively and hence consumers and firms will contribute to society and be rewarded.

9. Demand management of the economy

If aggregate demand needs to be boosted then the supply of money could be relaxed while a reduction in aggregate demand may require a tightening of the money supply.

Characteristics of Money.

· It must be instantly recognisable as money.
· It must be portable (that is, people must be able to carry around large values of the money safely and inconspicuously).
· It must be divisible into units of small value.
· This enables the purchase of goods of small value and goods of uneven value (for example, people must be able to pay for a good costing 15¢ and for a good costing €8.91).
· This also facilitates the giving of “change” in shops.

· It must be reasonably durable (that is, it must not be costly to replace).
· It must be scarce in relation to the demand for it. This is a characteristic of any economic.
	Barter is swapping of one item for another. Melon for a Chicken


Disadvantages    of    Barter
1) Double    Coincidence    of    Wants:    The    person    who    wants    the    Melon    
must    ﬁnd    another    person    who    not    only    has    Melons    for    exchange    but    
also    wants    a    chicken.
2) The    Problem    of    Divisibility:    Lets    say    that    a    farmer    has    a    cow    to    trade    
and    he    wants    some    shoes.    He    ﬁnds    a    a person who wants    that    wants    the    cow    who is willing to swap a pair of shoes for it.
How    do    they    both    decide    how   of a cow a pair of shoes is worth.   How do they deal with the fact that the cow is worth more than the pair of shoes.
3) Specialisation    is    Discouraged:    As    a    result    of    the    above    issues,    people    
attempt    to    supply    all    of    their    own    needs    in    order    to    avoid    barter.    The    
beneﬁts    of    specialisation    are    then    lost    to    the    economy.
Forms of Money.

There are two forms of money:
1. Cash – notes and coins
2. Claims on banks – deposits and loans.
	Measuring the money Supply.


	M1: This is all currency in circulation and all current balances in licensed banks within the state.




	
M3: This is all currency in circulation and all current balances in licensed banks within the state, plus deposit account balances in all licensed banks minus inter-bank balances.



	Definitions.

Banking ratios
· The Primary Liquidity Ratio (PLR) is the ratio of cash, which the banks must hold, to claims on the banks.
· The Secondary Liquidity Ratio (SLR) is the ratio of liquid assets held by the banks to claims on the banks. This is not obligatory.
· Interest rate the price of money / the cost of borrowing / the return on savings.
· 􀂃 Savings means not spending part of your income.



	Commercial Banks are institutions which provide deposit  and lending sevices to its personal and business clients.


	Functions of commercial banks.




1.Savings Facilities

Commercial banks offer security for depositors’ funds and pay interest on their savings.

2.Lending

A range of loans, overdrafts and mortgages are provided by commercial banks.

3.Operate cheque system/current accounts

They enable the business community and the general public to make payments by cheque/they provide an efficient clearing system for cheques.

4.24 Hour Banking

This service is operated through a variety of methods including ATM’s, telephone banking and internet banking.

5.Computerised Transfer of Money/Automated Bill Payment

Included in the range of automated fund transfer facilities offered by commercial banks are standing orders, direct debits, credit transfers and pay-path.

6.Foreign Exchange

Commercial banks have a range of facilities which enable international traders and the public to make or receive payment in foreign currencies e.g. eurocheques, foreign currency.

	How Banks Create Money/ Credit.


· Banks are privately owned profit making institutions.

· Banks buy and sell money.
· Banks know from experience that only a small percentage of customers will demand cash in any day.
· Mr. X lodges €1000 into the bank

· It knows that only 10% is demanded in cash.

· It has enough cash to support total deposits of €10,000. The bank can create another €9000 in deposits.

· It does this by giving out loans of €9000.

· Only 10% of its total deposits will be demanded in cash. So €1000 cash is sufficient for this purpose.

· 1. Commercial banks accept cash deposits from their customers e.g. say €100, for safekeeping. 

2. These banks know from experience that their customers will only demand back a small amount of these deposits in cash - say 10% because of their use of cheques as an acceptable method of payment. 
3. So they now have surplus cash with which to give loans - €90. 

4. The amount of loan they give is related to, but in excess of their cash deposits and is based on 

their reserve ratio. 

The amount it can create is calculated as follows:
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	Limitations on a bank’s ability to create credit.
1. The bank can lend out a multiple of its cash deposits. Thus the value of its cash deposits is the first restriction on a bank to create credit.
2.A desire by banks to reduce their level of bad debts might affect their ability to create credit. 

Reducing bad debts would reduce the banks’ ability to create credit as they would become more cautious about lending and would therefore be holding more cash. If banks are not issuing loans this means less credit is being created. 

3. Availability of cash deposits 
A bank can only give loans provided that it can attract cash deposits. 

4. Customers’ demands for cash 
The bank must keep sufficient cash to be able to meet the demands of its customers. 

5. European Central Bank guidelines 
Commercial banks must follow the guidelines of the ECB. 

6. Demand for loans by customers 
A bank is limited in the amount of loans it creates by the demand for loans. In a recessionary period the demand for loans will fall. 




	Powers of the Central Bank to control credit  creation.
· Open market operation – The central bank can sell securities (usually government bonds) on the stock exchange. This will take cash out of the banks thus reducing their credit creating capacity and vice versa.
· Supplementary deposits (“special deposits”) – The central bank can call in cash deposits from the banks, thus reducing their cash holdings, leading to a reduction in lending capacity.
· Manipulation of the short-term facility rate – 
The STF is the rate of interest that the Central Bank charges the commercial banks when they borrow cash from it on a short term basis.
· If this is increased, the banks would have to increase their rates to their customers causing a contraction in demand for loans.
· Foreign exchange swaps – Banks are permitted to hold foreign currencies for their customers’ requirements.
· If the banks are running low on cash they can temporarily swap some of their foreign currency for euros. This increases their cash holdings and so improves their credit creating capacity.
· Altering of the PLR by the Central Bank – This could mean that the banks would have to hold more cash for their customers’ requirements thus reducing there credit creating capacity and vice versa.
· Advice and directives – Here the Central Bank lays down guidelines on credit policy, which are normally adhered to by the banks. It is in their long-term interest to do so. They also endanger the renewal of their licences if they do not follow these guidelines. This is known as “the carrot and stick approach”.



	How Banks reconcile their twin objectives of profitability and liquidity.

OR How Banks Fail Due to Over Extending Credit.


A bank has twin requirements:

Profitability: refers to the need for a bank to make as much profits as possible from its assets

to satisfy its shareholders. The more profitable the asset is the less liquid it is.

Liquidity: refers to the need by a bank to have liquid assets in order to meet the demand for cash by its customers. The more liquid the asset is the less profitable it is.

Banks must strike a balance between the twin requirements of profitability and liquidity. As a result banks structure their holding of assets along the following lines:
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· By focusing on profitability (extending credit) at the expense of liquidity a bank may give loans to high risk ventures e.g. commercial property development loans. Property loans are highly illiquid but can be very profitable. A bank may run the risk of increasing bad debts, falling share prices, a lack of capital and possible bank failure.

· 􀁸 By ignoring liquidity requirements, banks may not have enough cash to meet the demand of their depositors and this could result in a ‘run’ on the banks and result in bank failure.

	How a desire by banks to reduce their level of bad debts might affect their ability to create credit. 

Reducing bad debts would reduce the banks’ ability to create credit as they would become more cautious about lending and would therefore be holding more cash. If banks are not issuing loans this means less credit is being created. 




	The likely economic effects if: -

(i) the supply of money grows at a faster rate than a country’s production of goods and services;

 1. Inflation - prices may rise because of insufficient supply/excess demand.

2. Imports - demand may be met by increased imports.

3. Savings - the insufficient supply of goods may force people to save.

4. Value of currency in a non-euro zone country may fall because of excess supply.

5. Rate of interest – under Keynes’ Liquidity Preference if the supply of money grows then interest rates will fall.




	The likely economic effects if the supply of money grows at a slower rate than a country’s production of goods and services.

1. Deflation / Moderation in price levels - prices may fall because of excess supply.

2. Falling demand ⇒ declining economic growth ⇒ producers may rationalize, leading to rising unemployment.




Economic Reason Why Commercial Banks Should be Regulated.

1.Protect consumers.

Regulation will ensure that the interests of the banks’ consumers are protected and that savers’ deposits are secure.

2.Proper lending policies.

Regulation will ensure that the banks follow correct lending procedures and that excessive/reckless lending is avoided.

3.Banking system stability.

Regulation will ensure that the banking system should remain stable.

Economic stability / confidence.

Proper regulation may ensure that the banks operate efficiently resulting in public confidence in the banking system / allow for the flow of credit and for economic growth of the economy. Prevent a “run on the banks” developing.

4.Less need for government intervention.

If the banks are properly regulated then there will be less need for the government to become involved as it has had to do with the guarantees for savers deposits; nationalisation of Anglo Irish Bank and the setting up

of NAMA.
Nationalisation 
	Nationalisation is the taking of an industry or assets into public ownership by a government.


	                   Economic arguments FOR Nationalisation.

1.Stability to economy / investor confidence

It may signal to domestic and international investors that the state seeks to protect an important resource and so attract investment.

2.Availability of credit

It may ensure that credit would flow to those individuals and businesses which require it, unlike at present where credit restrictions apply.

3.Rationalisation of banking services

It may lead to a rationalisation of banking services within the state, the elimination of wasteful practices / cost efficiencies.

4.Employment / consumer protection

Jobs currently under threat may be protected by state intervention. Consumers may be offered better protection by state banks.

5.Development of ethical banking practices

With nationalisation banking practices may be less motivated by the generation of profit and more towards the provision of those services

required by consumers.

6.Continued provision of banking services to

the community/ prevent foreign ownership

The nationalised bank may continue to provide retail services to those communities which in the past were only provided if the branch was

profitable/social objective




	Economic arguments AGAINST Nationalisation.

1. Financial Cost

Large amount of funds needed to ensure their future and they could continue to be loss-making into the foreseeable future.

2.Opportunity costs

The money used for the nationalisation could have been put to alternative uses by the state e.g. provision of improved health services , respite grants etc.

3. Increased taxation

Taxes may have to be increased to fund the purchase and running of the nationalised banks.

4. Unnecessary state interference

Too much state involvement in commercial businesses may discourage domestic / international investors.

5. Shareholders penalised

They may be forced to sell their shares at a price deemed unfair.




	Functions of the Irish Central Bank.

 1.Prints/Issues legal tender.

The Central Bank has the so the authority to print notes and mint coins in Ireland.

· It distributes the euro through the financial institutions within Ireland. 

· Its mint is located in Sandyford in Dublin. 

2.Government Bank. 
All monies received by the Government are paid into the government’s account in the Central Bank and all monies paid out by Government are drawn from its account with the Central Bank. 

3.Bankers’Bank/Issues licenses to financial institutions.

It acts as a Clearing House for the commercial banks who maintain accounts here. It regulates the financial sector in Ireland including credit unions, building societies IFSC operations.

The Central Bank acts as lender of last resort.

3.Official External Reserve.

These are this country’s official holdings of gold, foreign currencies and other reserves  held as security against the euro.

The Central Bank manages these reserve on behalf of the country.

4.Maintains Price Stability. 
The key role the Central Bank plays is to maintain price stability through its monetary policy operations so as to ensure competitiveness within the EU.

5.Provides Consumer Information.

The Central Bank regularly provides information on all aspects of the economy through its Central Bank reports and provision of statistics relating to the Irish economy. 

It also conducts research on various matters concerning the economy.




	The European Central Bank (ECB) 
1.Maintain Price Stability. 

The key aim of the ECB is to maintain price stability and this it does by closely monitoring inflation in member countries and adjusting the base ECB interest rate so as to adjust spending. 

2.Implements EUs monetary policy. 
Through its member Central Banks the ECB monitors and advises on: rates of interest, money supply, credit availability & protects the value of the euro. Main measures: Refinancing operations, Standing Facilities, Minimum Reserve Requirements. 

3.Holds and manages the official reserves of the euro area countries. 
These are the EUs official holdings of gold, foreign currencies and other reserves held as security against the issue of the euro. The ECB manages these reserves on behalf of the countries. 

4.Financial stability and supervision 
The member authorities must provide prudential supervision of credit institutions and ensure stability in the financial system. 

5.Euro bank notes and coins 
The ECB has the exclusive right to authorise the issuance of banknotes within the euro area.


	Monetary Policy any action taken by the Central Bank(ECB) which  altersthe money supply , interest rates, credit availability and protects the value of the euro.




Broadly    speaking,    the    ECB    has    three    man    tools    that    it    can    use    to    inﬂuence    
the    money    supply    .
1) Open    Market    Operations
2) Main    Reﬁnancing    Operations
3) Reserve    Requirements
Open    Market    Operations.
This    where    the    ECB    will    either    buy    or    sell    government    bonds    to    or    from    
the    public.    If    the    ECB    wants    to    increase    the    money    supply,    it    will    buy    
government    bonds    from    the    public.    This    is    known    as    an    Open    Market    
Purchase.    Assuming    that    the    public    is    holding    all    the    money    it    wants    in    
currency,    they    will    lodge    this    extra    money    in    the    bank.    The    bank    will    lend    
out    this    iinitial    deposit    times   the    reserve ratio    to    the    public    causing    
the    money    supply    to    increase.   The ECB  would  do the opposite if it wished to decrease the  money supply.

Main    Reﬁnancing    Operations.

The    interest    rate    that    commercial    banks    have    to    pay    when    borrowing    
from    the    ECB    is    called    the    “main    reﬁnancing    rate”.
Main    Reﬁnancing    Rate:    the    interest    rate    which    commercial    banks    
borrow    reserves    from    the    European    Central    Bank    (ECB). 

If  the  ECB   wishes   to    reduce   money   supply,   it   simply   incresaes   the    Refinancing Rate  , thus  increasing   the   price   of   money   to  the commercial   banks, and  when the price  goes up the  demand   will  fall.
Reserve    Requirements
If    the    ECB    insists    that    commercial    banks    hold    a    greater    Quantity    of    cash    (a    
higher    Reserve    -­‐    Deposit    Ratio),    then    this    reduces    the    amount    of    credit    
that    commercial    banks    can    create.    This    reduces    the    money    supply    in    the    
future.    
Theories of Interest Rates.

See  explanation of theories in Capital  notes= Loanable Fund Theory and Liquidity Preference Theory.

Interest Rates are the price of money/ reward for saving.

Therefore it can be seen that interest rates are a double edged sword- due to effect on savers and borrowers.
	The effects, which a rise in interest rates, may have on the Irish economy.


1. Borrowing discouraged

Borrowing is now more expensive resulting in higher loan repayments s

reduced spending power s lower standard of living.

2. Savings encouraged

With higher rate of returns people may find il more attractive to save z

lower spending.

3. Increased mortgage repayments

The cost of monthly repayments increases. Resulting in lower standards of living.

4.Cost of Servicing the National Debt

With higher domestic interest rates the cost of repaying the internal portion of the national debt rises.

5. Value of the Currency.

Rising interest rates may attract mobile investment into Ireland thereby increasing’protecting the value of the Euro.

6. Costs of Production /Reduced Competitiveness.

Will increase resulting in possible higher prices and i or a reduction in the numbers employed.

7. Disincentive to Invest.

The MEC will fall, resulting in lower profits and discouraging investors !

it becomes more expensive for businesses to borrow and so they may not invest.

8. Economic Growth - hindered.

With possible lower investment, future economic growth in Ireland may be hindered.

9. Revenue received from DIRT

With additional savings, the government may receive additional revenue through DIRT.

	The effects, which a fall in interest rates, may have on the Irish economy.




1. Borrowing encouraged.

Borrowing is now less expensive resulting in  lower loan repayments s

increased spending power s higher standard of living.

2. Savings discouraged.

With lower rate of returns people may find it less attractive to save =

Increased spending.

3. Reduced  mortgage repayments.

The cost of monthly repayments decreases. Resulting in higher standards of living.

4.Cost of Servicing the National Debt.

With lower domestic interest rates the cost of repaying the internal portion of the national debt falls.

5. Value of the Currency.

Falling interest rates may take mobile investment out of Ireland thereby decreasing the value of the Euro.

6. Costs of Production /Increased Competitiveness.

Will decrease resulting in possible lower prices and /or an increase in the numbers employed.

7. Incentive to Invest.

The MEC will rise, resulting in higher profits and encouraging investors !

it becomes less expensive for businesses to borrow and so they may now invest.

8. Economic Growth - encouraged.

With possible higher  investment, future economic growth in Ireland may be encouraged.

9. Revenue received from DIRT

With less savings, the government may receive less revenue through DIRT.
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